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College English Test

B MM (Classification Accuracy) B 95— (Classification Consistency)
pULRIL B&
pass | fail pass | fall
H | Pass| P11 | Pio X Pass | P11 | Pio
T : AL :
=k fail p01 IOOO fail p01 pOO

(Rudner, 2001, 2005; B&3, 2011; Lee, 2008)
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+ FRIBE (cut score) + ARG ERMiZEERROGE
(Birnbaum, 1968; Spray & Reckase, VS (Nydick, 2014; Reckase, 1983; Wyse &
1994, Lord, 1980; van der Linden, 2005) Babcock, 2016; Jones, Kopp, & Ong, 2019)
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AEREIRT B AN S RRENRREFEES (Lathrop & Cheng, 2013)
—BEFERAEX D ERRBEHALZST (Chang & Ying, 1999)
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CARDRDE, BBy = —oflld,, = ©

Z ¢ (Aoo, 0, 09, ) ¢ (4, 6;, 09,)

YRud =

i [(b(/l, 0;, GH;:) — ¢(’10' 0;, Ggi)]z + [¢(’100' 0;, GQi) B ('b(’l' 0;, 091')]2

T —
Rud Ne

(Rudner, 2001, 2005)
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po(k) = Z P(X = x|0)

X=E€(k-1)

| & A9REER

RISGEANE D x BIHTER

P, (k)
Viee =
i=1 Ne
) N, k
1 2
Tlee = N Z[p’g‘i(k)]
e
=1 k=1

(Lee, 2008, 2010)
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BNT=

« BEJIIIE (6.4 =0.58)  BRENA: 6y~ N(1.49, 0.46)
{KBEAE: 6, ~ N(-0.33, 0.46)

- WB#E 205K, 508%. 708%F11005%
e . 2bH~ U(-2.5, 2.5
s oy 3 = ( ) « E45000A
S| ESTEE o JENMZEZc= 0.25
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(EZ1%, 2005; Thompson & Ro, 2007; Thompson, 2011, Wyse & Babcock, 2016)
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DR EL (Weighting Methods): maxz _ ! 1(6,)
FF:'._M;‘I‘RE , s c=1 |9 - 96'
KINSZEE BEHERT
¢ PROBNE 24\: 33rd. 66th
3/": 25th, 50th, 75th
e Py « X9oEa~ N(0.7,0.042)
SAESZEE

- HXHEE20:8

(van Groen, Eggen, & Veldkamp, 2013; Veldkamp, 1999)



Al
I ERIES BRI E RIS

PSS RE

12

0.801 0.801 0.801
]

0.751 0.75 ® 0.75 ’
= o .
= = =
1070 E0.70 A L0707
ko i o ® Gkt
DA v ¥ u P A A bk

A

X = ~ VAN :: QAN
8 065 A © 0657 ® 0,651 9 R
- ¥} Hinet
= = 1
&

0.601 0.601 A 0.601

[ | A
055 A 055 055
) :r >

3 3 2
M G I [ G IR [ S



IS

AEERES —RIETERIE

AR — SR =
iie SR

Yy

(B ¥JFRudnerfFix

- THR: SEASRSERENEBRENIGH: ErEEaeNIEiE
MEMBMERSHY (thal, 70:TF1100:) : DROEUE/FEIVENE
PR BB RO E

v YFlLeeksik

PR ERHEARBEREMNE CRIFRIIHELL
PR BB RO E

%

%

() RIRSEE
- FETEMIRT HENERNMN. FREMTSERNOTEIER. NRRMELE

13



HiS
NGRS R ERE R Jg,,ﬁg k % &

EIJING NORMAL UNIV. I

RA—SRA
PSS RE

MRIDF U ESRUTIE1E !

BEas  h yingshi@163.com



